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Determining Reasonable Answer Name:
Determineif the answer shown isreasonable (yes) or not (no). Answers
4 )
» Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2x6=12 2x13=26 1.
» Anything times5 HASto end in an either a5 or a 0. Ex. 5x4=20 5x15=75 2.
» Anything times 10 HAStoend in aO. Ex. 10x7=70 10x16=160 3.
\ /
4.
1) 426x2=852 2) 10x100=1,004
5.
3) 5x215=1,075 4) 2x411=822 6.
7.
5) 658 x 10=6,580 6) 865x2=1,731
8.
7) 177x10=1,770 8) 233x10=2,339 9.
10.
9) 5x434=2174 10) 10 x 869 = 8,690
11.
11) 5x102=510 12) 976x 2=1,953 12
13.
13) 377 x2=754 14) 217 x5=1,086 u
15.
15) 843 x5=4,218 16) 578 x 10=5,789
16.
17) 5x669 = 3,345 18) 2x197=3% 17,
18.
19) 2x948=1,897 20) 2x459=0919
19.
20.
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Determining Reasonable Answer Name: Answer Key
Determineif the answer shown isreasonable (yes) or not (no). Answers
4 N
» Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2x6=12 2x13=26 1 YES
» Anything times5 HAS to end in an either a5 or a 0. Ex. 5x4=20 5x15=75 2. no
« Anything times 10 HAS to end in a 0. Ex. 10x7=70 10 x 16 =160 3. YES
L J
4. YES
1) 426 x2=852 2) 10x100=1,004
5. YES
3) 5x215=1,075 4) 2x411=822 6 no
7. Yes
5) 658 x 10 = 6,580 6) 865x2=1731
8. no
7) 177 % 10=1,770 8) 233x 10=2,339 9. no
10. YES
9) 5x434=2174 10) 10x 869 = 8,690
11. YES
11) 5x 102 =510 12) 976 x 2=1,953 12 no
13. YES
13) 377x2=754 14) 217x5=1,086
14. no
15. no
15) 843 x5=4218 16) 578 x 10=5,789
16. no
17) 5x669=3345 18) 2x197=394 17 yes
18. YES
19) 2x948=1,897 20) 2x459=919
19. no
20. no
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